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1. Answer all questions.

2. All questions carry equal marks.

3. Only one answer is fo be given for each guestion.

4. 1f more than one answers are marked, it would be treated as wrong answer,

5. Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken only one

circle oF bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN.

1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer

means an incorrect answer or more than one answers for any question. Leaving all tha relevant gircles or

bubbles of any question blank will not be considered as wrong answer)

7. ‘The candidate should ensure ihat Series Code of the Question Paper Booklet and Answer Sheet must be
same after opening tha eavelopes. In sabe ther ate chifaront, |« srdidide mustobtain anistier Question
Paper of the same series. Candidate himsel shall be rasponsicle for ensuiing nis.

8. Mobile Phone or any other electronic gadget in the examination hall is strictly prohibited. A candidate found
with any of such objectionabla material with himher will be strictty dealt as per rules, .

9. Please carractly fill your Roll Number in O.M.R. Sheet. 5 marks wil be deducted for filing wrong or
incomplete Roll Number.

10. If there is any sort of ambiguity/mistake either of printing or factual naiure then out of Hindi and English
Version of the question, the English Version will be treated as standard. '

Warning : If a candidate is found copying or if any unauthorised material is found in hisfher possession,
FI.R, would be ledged against him/er in the Pofice Station and he/she would liable to be prosecuted
under Saction 3 of the R.PE. (Prevention of Unfairmeans) Act, 1992. Commission may also debar
himMmer permanantly from all future examinations of the Commission.
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1 An electron has a spin quantum number +— and a magnetic quantum

2
number —1. It cannot be present in the following orbital .
(1) d-orbital (2) f-orbital
(3) p-orbital (4) s-orbital

%Eﬁﬁ?ﬁwaﬁi’wﬁw+%%mgﬁaﬁa'ﬁmm'—l
¥t ue Frefefes & ¥ fow oo@ ¥ oofua <& & wea ?
1) dwem | () fous

(3) p-waS 4) s-BEF

2  Maximum number of electrons in an orbit is given by

1) n? @) 2n

3) n22 @) None

Bedt wg & ofuehew gt Y dem, v owa O o & 7
(1) 2 @ 2n2

3) 2 @) o &%

40 80
3 Two elements are presented as 20A and 3 5]3 . The ratio of neutrons present

in the atoms of these elements is -
I 1:2 @) 4:7
3) 4:9 C)) 8 7

a’ra?rfr@r Aeﬂt B %mﬁuﬁf&hmw%lwaﬁ’r%mﬂaﬁ
A SuRed q;qﬁﬁ P AU ¥ :

m 1:2 @ 4:7
G) 4:9 @ 8:7
FAG1_A ] 2 | . [Contd...

Tty

WWW. upscstudymaterlals com




WWW. upscstudymaterlals com

Which of the following element does not have (n—1) d1%ns? configuration ?

(1) Zn | (2) Au
(3) Cd _ (4) Hg

Po A ¥ DAY aw w1 R (n—1)d0ns? T ¥ ?

(1) Zn @ Au
' G) Cd 4) Hg

5  The decreasing order of electron affinity is :

() F>Cl>Br>I @ Cl>F>Br>1"
1 @) 1>Br>Cl>F 4 Br>Ci>F>1
el oelEd (@gEl) @1 I gON %W ¥

(1) F 2.0l > Br>1 ) Cl>F>Br>1I
G) 1>Br>C>F @ Br>Cl>F>I

6 The isomerism exhibited by following compounds [CO (NH3)6] [Cr (CN)S]
and [Cr (NH3) 6] [Co (CN)G] is

(1) Linkage isomerism (2) Coordination isomerism’

(3) Ionisation isomerfsm (4) Polymerisation isomerism

s A [Co(NH3)6] [Cr(CN) ] e

FA61_A] 3 [ Contd...

L [ cr(NE)g ] [Cof CN)G] R e R d @
(1) wuSH GHEEE (@) SasEEEE SIEEE
‘ | (3) HREFIEIET GAEEE (4) SEEDIHIOT FHAFHEA
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7

Which of the following is diamagnetic jon 9
1) Tt 2 v+
(3) 3t 4 cu+
Frfifer & 4 s g o o
(1 o+ 2) 3+
@) crit (4) cCu+

The correct IUPAC name of the compound K, [Zn (OH)J
(1) Potassium zinc hydroxide

) - Dipotassium monozing hydro#ide

(3) Potassium_ zinc(IT) | tetrahydroxide

(4} Potassium tetrahydroxozincate (I

W Ky [Zn(0H), ] = wdt mupac ™Y
Gy " R Rig FEFlaqTES

@) srwfem ANt arstemEe

@) WRfimm Riw BT TS

@) WA SrrgRe @)

Py a5

A fullL )

Y3513y ?1#
el i

sy F lklics
www.upscstudymaterials.com:
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(1) Pd, Pt, Y | (2) Ag, Cu, Au
3) Y, W, Sc (4) Mn, Tc, La
5 11  Electronic configuration of Gadolinium (Gd) is [Z=064] :
i
(1) [Xe]4f® 5d° 657 @  [Xe]4t’ 54! 657
(3) [Xe]ar" 54% ‘o5’ YRR CIE Vet
P (Gd) # e Rema 31 [Z=64] ¢
(1)  [Xe]4f® 5d° 657 @) [Xelaf? sd' 6s®
() [Xe]ar” 5d° 65> @) [Xe]af” 54% 65!
12 Misch metal consist of _iljon, traces of S, C etc. with 95% of :
(1) Earth metal e (2) Actinide .
i (3) Lanthanide (4) Alkaline earth metal
figt g ® We THSC % aEdNl ¥ Wl 95% Wl Sl ¥ o
(1) 7% =g ~' (2) TS
(3) wATES R (4) alg Fa g |
FA61_A] 5 [ Contd...

The set of elements present in the second, third and first series of transition
elements respectively is :

(1) Pd, Pt Y (2) Ag Cu, Au
3) YW S (4) Mn, Tc, La

g ok @ wam qEd, dEd ok e AP ¥ saRew asi @
¥
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13 . Arrange Ce3*, La’* Pm3* and Yb3* in the increasing order of their ionic
radii ; '

1) Yb* <P’ < Ce?t < La3‘_L
@ Ce* < YbO < PmPt < L3+
®) Vb3 <P < La** < ce?t
@ Pmt <La® <ot < Yb3*

Ce™, La®*, Pm™ om vo>* @t wiat wedt 58 s e § araRes
i |

1) Y} < Pm < Ce¥t < L3+
2) cet< Yhit < RPm>t - 1g3+
B) YOI < Pm3t < Ladt < oo

@) Pm3 <La®t < Ce3t < v+

14 | Actimides which exhibits +7 oxidation state are -

(1) U, Np | (2) Pu, Am
() Np, Pu @ Am, Cm
+7 SIRIGT TR 9 T iRy ¥
(1) U, Np | (2) Pu, Am
(3) Np, Pu @ Am, Cm
FAG1_A ] 6 [ Contd...
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General oxidation state of Lanthanides is :

1y +3 @ +2
G o | @ -+
el W e o s § -
(1) +3 2 +2
3) o - @ +1

The unit for specific reaction rate of second order reaction is :

(1) sec! (2) mole-Lit1.sec!

(3) lit2. mole?- sec! (4) lit-mole™!1-sec!
Tl =it ) affean % (Rer Rildny sivieen s IR R
(1) sec! (2) mole-lit!-sec]

(3) lit?. mole?- sec! - (4) lit-mole!.sec!

17 For the reaction 280, +0, (excess) — 2803, the order of reaction with
respect to O, is :
(1) zero ' - (2) one

(3) two. o (4) three

ffsRaT 250, +0, (snfyma) - 2505, ¥ fig 0, & He ¥ afufemr &

Hife & .
o @@ (2 @
@) @ @ @
FAsi_A] 7 ~ [Contd...
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18 Rate constant for first order reaction is $.5x10"4s~!. The half life of

the reaction is :

(1) 126 x 1085 @ 130x10%s
(3) 2.00 %100 (4) 226x%x10%s-

ao i e % R A Breis w1 A 5.5x107 457! ¥ sfufem
W odarg el | |

(1) 1.26x10%s @) 130x102s

¢y 200x1i0s (4 226 x10%g

19 Which ol thefollowing) is' 116t 'correét' for- chemiscrption ?.
(1) It is highly specific.
(2) Tt is usually reversible.
(3) It increases with increase in surface 'afea.
(4) 1Its enthalpy is high.
e ¥ ¥ SR-m TaebEmR % Ry w2
1) W sehm R @@
(2) ¥® 9 SRl s ¥
() wE YW &9 ¥ 9o F WY @A &l
(4) B G IT= T

FA61_A] 8 ' [ Contd...
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The range of size of colloidal particles is :
M 10°-107m _ @ 107710712y

3 1073-10%n @ 107210719,

BT U H R & T B

M 10%-10%n @ 107910712

3 103-10%m 4 10712_19719,,

The vapour pressure of a solution 'containin_g 0.15 mol of solute (non
volatile) and 0.85 mol of solvent is 120 mm of Hg. What is the vapour
pressure of pure solvent 9

(1) 102 mm of Hg (2) 120.85 mm of Hg
() 1411 mm of He 13D @ea| BF Ee
0.15 Wi el (erarsasiter) Tar 0.85 Wit foeTvarss o uw Rrwmst w7 amoy
W9 120 mm Hg ¥ g Poms @1 o o feem 7

(1) 102 mm Hg (2) 12085 mm Hg

(3) 141.1 mm Hg (4 150 mm Hg

Which of the following aqueous solution will exhibit highest boiling point
(Considering complete ionization) ?

(1) 0.01 M Na,80, 2) 0.015M glucose
(3) 0.015M urea (4)  0.01M KNO,

a{%ﬂfﬁﬁgﬁﬁ@fﬁﬂ—ﬁﬁ?ﬂﬁﬁﬁﬁﬁﬁﬁﬁma&ﬁm%({ﬁm
aWd gw) 7 |

(1) 0.01 M NaSO, (2) 0.015M "garg
(3) 0.0I5M urea (4) 0.01 M KNO,
FA61_A1] 9 [ Contd...
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23  Which of the following is not correct for ideal solutions ?

(1)  The solutions obey Raoult's law over the entire range of concentration.

(2) The enthalpy change (AHy;) of mixing of the pure components

to form the solution is zero.
(3) The volume change (AVyy) of mixing is zero

(4) Ethanol and acetone on mixing form. an ideal solution.

ﬁﬂ%&aﬁ%ﬁ-ﬁ-%&f%ﬂﬁ%ﬁaﬁaﬁﬁ%?

(3) firsm H AGTT IRadT (AVmi_x) o g ¥

@ qaﬁhquﬁﬁfaamﬁwmfﬁmm%l

24 Which of the following term is unitless ?
(1) Mole fraction (@ Moty
(3) Molarity (4) Density
frtefes & ¥ F-w v = g (unitless) & ?
(1) . e () v
(3) T @) wTE

FAGL A | 10 [ Contd...
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A mixture of benzene and toluene forms -

1 . .
(1) An ideg) solution (2) Non-ideal solution

' _ (4) Emulsion
<o ofre AT B o o 3

(D) % amy fmge @ & st fyma
() fee o

: , 4) sgee

(3)  Suspension

26 £ -
The AH{ for CO2(g), CO(g) and H,0(g)

. are -393.5, -111.31 and
1:‘ —241.8 kI mol™ «
I
f
!
i

respectively. The standard enthalpy change in (kJ) for the
p reaction CO, (g)+H, (g)— CO(g}+H,0(g) is -

(1) 5241

(3) 2625

2 4039
4) , -41.2

co -
2(g), CO(g) T Hy0(g) & forw AHY w1 w7y gy ~393.5, -111.31

(g)-l—Hz (g)—-co (g)+.H20(g) ¥

1) AG (2 AH
(B) AE @ PAvV
WW%M%WﬁWﬁWH&WW%
(1) AG (2) AH
(3) AE 4) Pav
FA61 A ] 11

[ Contd...
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28

29

30

If process is spontaneous then :

(1) AG=0 ) AG>0

B AG<0 4) AG=AH

e wpA W@ Waida @ &

(I AG=0 B (@ AG>0

®) AG<o @) AG=AH

The volume of a gas 1s .reduced to half from its original volume. Tﬁe
specific heat :

(1} . Remains constant - (2) Reduces to half

3) Bé doubled . (4) Increases four times

@%mwmqﬁwwmmﬁmw%lw

1) Rr e ? (2) e & sy
BYV -3 [ oL | @ e g @ W

Enthalpy of sublimation of a substance is equal to :
(1) Enthalpy of Fusion

(2) Enthalpy of Fusion + Enthalpy of vaporisation
(3) Enthalpy of vaporisation

(4) Twice the enthalpy of fusion

@ e W HeuE @aﬁ EV Eﬂﬁr
(1) ww e
@ d T + e e
() aofmr oS

@ de T @ S

FA61 A] 12 ‘ ~ [Contd...
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Number of i 1someric monochloroalkanes of CsHy, are -

M 6 | @ 5
7/ G 7 @ 3
CsHiy & wumadl wiiemiieedt @& sen ) -
M 6 @ s
@ 7 | 4 3
Il 32 Wthh of the following alkyl halides will undergo SN! reaction most
1|‘ - réadily ? | _
i |
!‘ (1) (CH3),C-F @ (CH;),c-cl
H _
. @) (CHy);C-Br @ (cHs)c-1
‘*' mﬁ%ﬁﬁ#ﬂ?ﬂﬁﬁaﬁmmm&mlaﬁm
! gt ¥ 7
(1) (CH;),C-F @ (CH;),c-cI
(3) (CH3_)3C—Br - @ (CH3)3_C—-I_

33 The correct stability order of following is -
(1) 1-pentene > cis-2 - pentene > trans - 2 - pentene
(2) cis-2 - pentene > 1 - pentene > trans - 2 - pentene
(3) trans - 2 - pentene > cig- 2. pentene > 1 - pentene

(4) cis- 2 - pentene > trans - 2 - pentene > ] - pentene

ﬁﬁ%ﬂgﬁﬁﬂﬁwﬁﬁmw%:
(1) 1~ﬁiﬁ=r>wa{-_2-ﬁ-—a=r>faw-2-ﬂé’t=r

(4) wHE-2 -7 > fygey - 2 - =E > 1 -9
. FA6l A] 13 [ Contd...
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35

In the electrolysis of sodium salt of & carboxylic acid, acetate free radical -
is formed at anode. The hydrocarbon obtained in the reaction will be :

(1) methane (2) ethane
(3) ethene (4) ethyne

TH BRIENS O & QST a0 & AN AEe W U W TR
TR qEE S0 1 59 SfuReEn ¥ W W SEEeEN g ;o

(1) HE99 _ (2) Tudw

G ww @ T

The TUPAC name of allyl chloride is :
(1) 1 - Chloropropene

(2) 3 - Chloro -1 - propyne

(3) 3 -Chloro - 1 - propene

(4 1 - Chloroethene

Ufew awigs @ [UPAC W& & °
(1.) 1 - TARMAT

(2) 3 - - 1 -WeEd

(3) 3-w¥- 19N

(4) 1 -FimeEE

FA61_A | ' 14 [ Contd...
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COOH

Cl—l—Br

H

’ * : _ (1) ®) 2-bromo-2- chloro ethanoic acid
(2 (S) 2-bromo - 2 - chioro ethanoic acid

(3) (R) 1-bromo -1 - chloro ethanoic acid

4@ (S) 1-bromo - 1 - chloro ethanoic acid

aﬁﬂﬁrﬁgaa*rﬁmm(R/S)Wém:

COOH

Cl Br

) (R) 2-54t- 2 - 91 wiiR® anc
@ (S 2-F -2 - T e
G) ®) 13- 1 -3 v o

@) (S) 1-9mi-1-wrd RO EiEcrl
FA61 A] 15

www.upscstudymaterials.com

(R/S) Nomenclature of the following compound s -
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37 The correct order of increasing acid strength of the compounds :

c,
(@ CH;CO0H (b cH; - :C -G - OH
, CH; O
CH, h)
(c) CF,CooH d H¢c_ ¢
3 H3C>'C C - OH
M @ <@ <@ <@
@ ®F< @ < @) <
G @<@< (©) < (b)
@ (@< (@< @) < (@
RUdER]
CH;
(@ CH;COOH (b) cHy - f': ~C-oH
' CH; O
CH, O
" (c) CF,COOH @ =H ~C-
3 1{3c>c C - OH
% T& FU onw wmed @y o w3
M) @ <@ < (© < ®
2 (®) < (@) < () < (o)
@) @ <@ <@ <@
@ @ < @< @< (c)
FA61_A | 16 | Contd...
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Benzoyl chioride is hydrogenated in presence of a catalyst (Pd- -BaS0Oy) to.
form benzaldehyde. The reaction is called :

(1) Rosenmund reduction
(2) Stephen reaction
(3) Etard reaction

(4) Gatterman - _Koch reaction

@G@W(Pd-Basoga?rwﬁuﬁrﬁ%amﬁﬁﬂﬂsg%m@ﬁ%m%
%ﬂo—eﬂmsgaﬁm%luga’rﬁaﬁ;m

() eFEs s
(2) T sfiea
®) T sl
() MEET — Byt s

Which of the following do not respond with Fehling's reagent ?

(1) CH,CHO | (@) CH;CH,CHO
(3) C4H,CHO @ CH;- CH~CHO
. CH3

%ﬁfﬁﬁmﬁ%maﬁwﬁﬁﬂﬁmﬁrmﬂﬁaﬁm?

(1) CH,;CHO (2) CH, CH2CH0
() C.HCHO ' @ cH,- CH~CHO
CH3
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40  Which of the following compound wiif not undergo Aldol condensatioh\
(1) Ketone having o.-hydrogen
(2) Aldehyde having o -hydrogen
3) Ketone having méthyl keto group
(4) Aldehyde does not have o -hydrogen
ﬁwﬁrﬁgﬁﬁ%aﬂmmﬂrﬁmqﬁamﬂé?%ﬂ ?
(D) o-EIT gaa A
@) TR gF qReeme
(3) AP = E uiea e
@ o-TEETT R uherrs
41 Compound which does not give haloform reaction is -
(1) CH3 -COCH;, (2) CH, —?H—-CH:),
OH
() CH;-CH,CHO (4) CH,CHO
RUCC g T v T
(1) CHg ~COCH; 2) CH; ~CH-CH;,
|
OH
(3) cCH, —-CH,CHO (4) CH;CHO
FA61_A} ' 18 [ Contd...
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Correct name of the compound (CH3)2 CHCOOH is -

(1) Butanoic acid _ (2) Malonic acid

(3) Isobutyric acid (4) Glutaric acid

dfw (CH;), CHCOOH = wdt «m ¥

| (1) =g~ig®w apw ) e evw
g () oEERRE e @ i
|
1

(1)  Electrophilic substitution (2), - Free radical | substitution

(3) Nucleophilic substitution (4) Tonic mechanism

(1) seEFeE witreeTe 2) TEIYES WA
(3) = Ed wiremy @ amrﬁaiw

44 Which of the following is not o, p directing group ?

(l) —NH, (2) -OH

(3) -CHO (4) -OCH,
sl & & #FT o 7 p Pdek W @ ¥ 2
() -NH, (2 -OH

(3) —~CHO (4) -OCH,

FA61_A] www.ub8cstudymaterials.com’ - [Contd...

! 43  Chlorination of toliene in the presence of sunlight takes place by :

q&%m&wﬁmﬁz‘lﬁgﬁwwﬁﬁwwwam%:
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43

46

47

The ratio of 7 electrons present in the rings of naphthalene and
benzene is :

1 5:3 @) 3:5
@ 1:2 @ 2:1 |
A Rl e g —
Q) 5:3 - @ 3:5 |

(G) 1:2 @) 2:1

Friedel - Craft reaction is related with :

(1) Sulphonation (2) Nitration

(3), Aoylation (4) < Redugtion
s — e o e 3, P @
(1) wwEr @ T
¢) ewm @) s

uv
@ +3Cl, WA, Ais :

(1) Cyclohexane (2) Gammexane

(3) Cyclobenzene chidride (4) Cyclohexane chloride
Uv

@ +3Cl, WA, A% :

(1) R (2) TS

(3) uEEWESIT TGS (4) UEFeTET T

FA61_A ] www.upscstudymaterials.g&ﬂ- ' = [ Contd...
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48  Aromatic among the following : Chen ae e

-

QO O
A B
(1) Both are non-aromatic - (2) Both are aromatic
(3) Both are antiaromatic (4) Only A is aromatic

wﬁgﬁ 7 ¥ AR (Aromatic) ¥ :
n

O O

A B
] . (1) I W R ¥ @) I/ oAl ¥

e g s T YT L

ik

49  Which of the following is not true for aromatic hydrocarbons 9
¢)) | characteristic odouf
(2) immiscible with water
' (3) bum with sooty flame
(4) do not undergo electrophilic substitution reactions
Qﬂﬁ&mﬁ@ﬁﬁﬁ%ﬁqﬁﬁ%ﬁﬁ%waﬁﬂﬁ% ?
(1) ffire iy
) v ¥ sifenly
() Y ot W F wwr wwy ¥
@ TR e affean T & ¥

LAl | 21 . | Gontd::
www.upscstudymaterials.com o
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50  Vitamin that controls blood coagulation is - .4 ;
(1) Vitamin E (2) Vvitamin Bg
(3) Vitamin C (4) Vitamin K
ey ot o % ued s % PR wr b o
(1) RrafE E (2) T B
®) fefac @ Repmk
51  Which of the following is n;)t a pyrimidine base ?
(1) Uracil (2) Thymine
(3) Cytosine (4) Guanine
ateferliam FOR @ B s ke 2.0 i
(1) g . ) amE - ;
() uErd @) e
52 Glucose on oxidatipn with nitric acid forms -
(1} Gluconic acid (2) Oxalic acid
(3) Saccharic acid ) Butyric acid
G, TERD o & WM e 50 W o b
(1) @it e | Q) oirRfE o
(3) Tiw opw @ =gl s
FA6]L Al 22 ' [ Contd...
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53

54

What is not correct for enzymes ?
(D Enzymes are- very specific for a particular reaction.

(2) These are required only in small quantities for the progress of a
reaction.

(3) They increase the magnitude of activation energy.

(4) Almost all the enzymes are globular proteins,
ot % foa wmmowd o Y e
(1) dumgm & fagw afafem & R ffie o &

@ Bl afifem & wity ¥ frg e wga B umE @ g
Sl i

() & afpuw st ¥ ufmmr @ 9w A ¥

(@) T g GEH WiegwR e 3 3

Insulin is an example ;)f following type of protein :
(1) Fibrous (2) Globular
(3) Chain (4) Cylindrical
T Frfefed vor & W89 @ samm ©
1) =R () T

() sEm 4) ST

FA61_A] www.upscddymaterials.com’ - [ Contd...
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55 Out of the following, essential amino acid is : i
(1) Valine (2) Glutamine
(3) Cysteine - (4) Serine

Prefife ¥ & orvas T anw &
OB | @
G == ‘ @) he

56 The enolic form of acetone has -
(1) 9 o bonds, 1 x bond and 2 lone pairs
(2) 8 o honds, 1 .'rr bondtand 125 lone padrg
(3) 10 ¢ bonds, 1 m bond and ] lone pair

(4) 9 o bonds, 2 m bonds and 1 lone pair
THEN & Fifve w0 waar § o
(1)96W,11:Wa?r’{2@a%gm
(Z)SGW,anGﬁTZQW@q
G) 106 99 1 n F9 ok 1| gaa 3w

“) 00 T 2 n T A1 G gw

FAGL A | 24  [Contd...
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Who applied the valence bond theory to the hydrogen .molecule ?
(1) Pauling (2) Heitler and London |

(3) Fajan ' (4) Born and Haber

RIS 9 W ESTmar 9y fh@ﬁr e gt R 7

(1) W ) éﬂ‘aﬂ'{aﬂ'{a%?f

3) @ T W e
ik
2: 58 The electronic configuration and bond order in case of He} ion are,
5 respectively :
ik
21+l 0
(1) (o) (015),1 @ (o) (c}'s) ,1/2
e 0
® (o) (oks) 0 @ (o) (of) 172

He] &7 & o0 sowife frme ofit o @7 wogn 3

O (ou) (oh).1 @ (o) (i) 12
¥
) (ou) (oh) 0 @ () (ot 112
FA6LA] | 25 [Contd...
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39  The relation between Bond length, Stability and Bond order is :

1
bond order

(2) Stability o« bond order

(1)  Stability oc

(3) Bond length o bond order
(4)  Stability oc bond length

Y WNE, Wi o & ®mw ¥ gdy ¥ -

-
(1) @@ o pm—
2 v o w4 wq
() TU WEE o TY WA

60 The value of Hamiltonian operator is :

h 1 9y(e)
O "3 @ o @ By
811:2m14! A2 2
(3) h2 4) —E;V +V

h 1 oy(t)
O T w @ By
5y STmy n - v,y
3) h2 () "‘El;l" +

FA61 A] 26 ~ [Contd...

www.upscstudymaterials.com



www.upscstudymaterials.com

EAN of metal atom in Fe(CO); and Cox(CO)g are respectively
(1) 34, 35

2) 34, 36
() 36, 36 (4) 36, 35
Fe(CO)s &t Coy)(CO)g & wemmoyeit a7 wysprel) T #9i%  (EAN)
L S
(1) 34, 35 Q) 34, 36
511; | (3) 36, 36 4) 36, 35

62  The geometry of [Co(CN)6]35

complex and hybridisation of Co in it
IS :

(1) Octahedral, d2sp3 (2) Square planer, dsp?
(3)  Tetrahedral,  sp3 (4) 1T Octaledrhi sp342

[Co(eN) T wigmr = SR X T Co 1w 3
(1) segHasm, dzspi
() agwwEl, spd

) T wEel, dsp?
(4) Srewaay, spid2

63  Which ligand is expected to be bidentate ?
M cy0i (2) CH;C=N
3) Br (4) CH;NH,

P % & @er R R (bidentate) ¥ ?

(1 C,04~ () CH;C=N
3) Br- (49) CH3;NH,
FAS1 A] '

27 [ Contd...
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T ERALER

64 The CFSE .
for octahedral ang tetrahedral complexes is related as -

4
) a,=-3
9™ @ A=-Za,
3
2
(3) Aoz—‘—A
3 @ A~-Za

f .

will be
(1) red
@) green
(3) orange
s (1)  yellow

) ww @) =
@ e @
FAgl
A] ” .
' ontd..,

www.upscstudymaterials.com-
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66 Due to lanthanide contraction :

(1)

Ionic radi increases from La to Lu
(2) Tonic radij remain constant from Ly to La
(3) Covalent ragjj increases from La to Lu

(4) Ionic radi decreases from I.a to Lu

T T ¥ By

') La@rLuawemﬁasﬁwaa-cﬁ%
(2) Lu%Lawewﬁaaf%lwﬂaTmﬁ%
() La@Luamﬂmwf%wwwﬁ%
(4) LaﬁLuamewﬁlasf%mnuzah%

——em

67  Which of the follpwing 1on is not Paramagnetic. 2
(1) Ce3 (2) Pt
(3) Ng3+ 4 Lud :
Fremivad & 3 S oo srqged 6 &
(1) Ce3+ @) Pd+
() Nd3t+. @ L3
68 Dy3+ j

1o8s are coloured due to :
(1) d-d transition (2) 1f transition
(3)  d-f transition

Dy** amas i & -

(1) d-d F®a ¥ e

(4) fd transition

@) £f 99 F @

() d-f Fwmor ¥ ey @) d G F oy

FAGL_A | 29
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69 In the complex K, [ThClg], the Outer electronic configuration of:"'\_
actinide ion js : )
(1) 5£9 640 740 () 55l 640 70
@) st7eal 780 @ 5£7 6ql 74!
€W Ky [ThClg] ﬁ@%wmmsﬁﬂaﬁww%%:
(D) 5£0 649 750 _ @ sl 640 750
() s5£7 6g? 70 - () 567 6g! 74l

76 In general the Molar Susceptibility values of the Actinide jong as compared
to those of Lanthanide ions are - ' '
(1)  Higher ), Lower
(3" Equal (4) None of the above
ST Wdemss st ¥ s T guliar am W sy
& T A oa g 7 A ¥ - |
(1) S=my | @) Fremy
3) @) 0w ¥ ¥ B oy

71 Disintegration of radioactive elements ig an example of -
(1) 1% order (2)  2nd grder
(3)  zero order (4) 1.5 order
AT aw it w5 e T T
(1) v i 2 fada a1
Q) = Ak @ 15 =i

FAG61_A ] 30 [ Contd...
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, 72 The well stoppered thermos flask containin

g Some ice cubes.js.an - ..
example of :

(1) Closed syétem (2} Open system

(3) Isolated system (4) None of the abové

IR B
N s< Feg @) g Fem
(3) fefe tor (4) ST ¥ ¥ B T

73 According to second law,_of tharmodynamics
(1) Total energy is conserved
(2) Heat is conserved
(3) Entropy changes
(4) None of the above
Sominl & Ul P % AR :
(D) I« o=t o wdt
(@) @ Wi wd 2
() wId wfeffa o 2
@) SR A A W

FA61_A] | 31 [ Contd.:.
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74  What is not correct for the reaction 2N305 -4NO3 +0, 7

—d[N,05]

(1) Rate of reaction is at

(2) Rate of reaction is proportional to [N205]2.

(3) It is a first order reaction.

4 Itisa redox reaction.

GT&I%QT 2N205—)4N02+02 a; f%rl"'{iﬁﬂ Hﬁ qﬁ % ?

(1) mﬁmméﬂm%l

dt

@) ofibr w1 [N,05] % wEgER e ¥

(3) usuaqﬁ&ﬁaiﬁﬁm%l
(4) % T SEw atafear ¥

75 For Arrhenius equation K = A ¢ Ea/RT which statement is false ?

(1) Unit of E, is Joule/mole.
(2) A is independent of temperature.
() E, is dependent of temperature.

(4) A is frequency factor.
AT TG K = A e Fa/RT % Ryw @vmar w97 o 3?7

() E, & % smre 3

@ A" w Pk W@ w3
() E, 90 W P weanr ¥
@) A SRt i ¥

FA61 A ] 32 [ Contd...

www.upscstudymateridreeom- -



www.upscstudymaterials.com

76  Efficiency of fuel cell is given by -

AG AS
(1) —=x100 220

AH ) Agx1o0

AH - AG |
3) —x100 2y

AG _ *)  pg* 100

S T AW B @A ww B W E :

AG AS

(1) -—— X100 — X100
AH @ AG '
J AH AG
(3) —=x100 ~—Xx10
AG _ @ AS 0

77  The relation between activity (a) and concentration (m) is : -

1

1) a e o 2) a«m
@) aom? @ 2=
AheTET (a) o) WA (m) ¥ wey T o
) a = 1 2) ae«m
. m
(3) ae«m? 4 acx I:—z
FAGI_A] | 33 [ Contd...
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78  Corrosion is basically a :

(D) Altereqg reaction in Presence of H,0.
2) Electrochemical Phenomeney

3) Interaction,

RT
E°=“—'—-I 1 8 .-
79 oF MK s known as ;
(1)  Gibbs €quation
(@) Gibbs Helmholt €quation
() Nernst equation
4 Vander Waals €qQuation
E°=§IIHK T ST ¥
nk
(M) Prex wefiea

34

rials.com
studymate
WWW.UPSC
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81

FAG1_A ]

Weak electrolyte of the following is :

(1) HClO, () HI
(3) CH;COONa - 4 H,CO,
Prafafea & @ ?ﬁfﬁl ‘a'g,ﬁ Uy %

(1) HCIO,4 ' .2y HL

(3) CH,COONa | @) H,CO,

Enthalpy of formation is related to the reaction :

(1) NH,NO, I—> N, + 24,0

2) 2H,+0, - 2H,0

(3)  CyH, +305 — 2C0, +2H,0

“) C2H4 +Hy; — CyHg

ova-gen e efufen @ waftm ¥, 98 % ¢
(1) NH4NO, — N, +2H,0

(2) 2H,+0, - 2H,0

3) C,Hy4+309 —2C0,+2H,0

(4) C2H4 + Hz — CZHG

www.upscstu&?lﬁnaterials.com '
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82  The standard enthalpy of formation of which of the following substanéé_
is zero ?
(1) H, gas @) HCl gas
B) H,0 gas @) €O, gas
TR S 3 R S e g
D H, i 2 HCl ¥y
(3) H,0 #g @) Cco, g

83 In general the entropy change of a Spontaneous process is

(1)  Positive
(3) Zero

(2) Negative

(4) None of the above

84 Boiled €82 is hard, so there is :

(1) Increase in disorder

(2) Decrease in disorder

() No change in disorder

) AG is negative -
WE@WW@W%, ECH-t G
() o= w5t 3
@) serTRn W 3
) s ¥ @ ot i e b

) AG =T ey ]

FA6LA] 36 [ Contd...
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I T i e g T (TR M e i

' TAS (2) AH=AE+pAV
W @ -G 4) AH=C,AT
1 1 frafofer % & oy % o B wey vt 2
S
TAS (2) AH = AE+PAV

& AH=C, -
) p=C @ MH=C,AT

Cl\ /Bl’
86 C=C .
H J \CH3 has the following prefix :
(1 E @ z
©) trans @  And
i J ¥ fo sumt & .
H \cH,
1) E @ z
@3
R @
FAGL_A | |

37 [ Contd...
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87  Number of stable conformers formed by 1, 2-Dimethyl cyclohexarie \

are : -
(1 2 @ 3
) 4 (4) 6
I,ZE@%WWMWWﬁW%
(1 2 @ 3
3 4 @ 6

At ~70°C the NMR of cyclohexane give :

88
(1) 1 signal (2) 2 signals
G) 3 signals ~ @ 6 signals
—70°c'w¥lm%a@qmrmém%.r
(1) 1 ¥&a 2) 2 d@%a
3) 3 d@&q (4) 6 H&q

89  In which of the folléwing compounds halogen atom s not attached to any
carbon atom of benzene ring ?
(1) 0-Chlorotoylene 2) m-MethyIchJorobenzene
(3) Benzyl chioride 4) p-Chlorotoulene
%ﬁammﬁmmmw%wmm
¥ 931 gonr TE
M) o-wRieiggy @) mA PR
@) I e @) p-wiRRE

FA61_A] _ 38 [ Contd...
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90  The IUPAC name of C=cC is -
Br” \¢

1) (B) 1-bromo - 2- chloro - 2 - fluoro - 1 - iodo ethene
2) (Z) i1-bromo-2.- chloro - 2 - fluoro - § - iodo ethene
(3) (B) 1-bromo -2 - fluoro - 2 - chloro - 1 - iodo ethene

4) (Z) 1-bromo-2 - fluoro - 2 - chioro - 1 - iodo ethene

I\CZC/F B TUPAC 7 & :
B~ \g -
(I ® I-ﬁﬂ’r-z-mﬂﬁ-z—w’r&-l-ams‘r iy
@ @ 1-@1#}’-2-&@%-2-@#4--6{@ T
G ®) 190 2 w23 -1 - o ey
@ @ 1-ﬁ-z-mﬁ-z-m-1-m qefry

91  Which of the following wil] give Cannizzaro's reaction ?

()  CH;-CHO @) C4H5CH, ~CHO

() (CHz),-C-cCHO 4} CH;-CH,-CHO

ﬁﬂ%ﬁﬁ%ﬁ?%ﬁﬁfﬁﬂﬁ?&mﬂm?

(1) CH;-CHO (2 C4HsCH, - CHO
(3 (CH3),~-C-cHO (4) CH;-CH, -cHO
FA61_A ] WWW_Sgscstudymaterials.com'
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Rt T

0 O R

2 p & CH,R ' HCHO + RyNH = R ~ - CH- CH,NR,
The reaction is known as :
(1) Wittig = | ) Masich
(3) Knovengel (4) Stobbe
0 : 0O R
R-C- CH,R '+ HCHO+R,NH - R ~ & Chi- CH,NR,
affRar SFl W ¥
(1) Tfafen ) #Atw
3) AW 4 =wE
93 Reaction of strong alkali on furfural yield :
(1) Furfuryl alcohol
(2) Furoic acid
(3) Furfural + Furoic acid
(4) Furfuryl alcohol + Sodium furoate
TR T YR #X S ooflem ¥ W g ¥
(1) R STwpied
(2 wTH o
(3) HEE + TUTH O
@) BHRE sweEd + GiRTT wRNE
FA61 A] 40
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94 Out of the following, which is true for chair conformation of cyclohexane 9
(1) It is the most stable conformation of cyclohexane .

(2)' Cy G, C5 and Cg Hydrogen atoms are eclipsed.

(3) Flagpole hydrogen atoms are very close to each other.

3 (4)  There is considerable torsional strain in the molocule,
Frfefed & & mewitade & oo dowor & fro @ ww ¥ 7
(1) WEFRRT = 95 Fad ot @ weum )

@ Cz,Cg;CSBﬂTCGH@WWW%I.

G ﬁmmm%@%%m‘w&%l

@ &y 7 fEwd w0 Right (torsional strain) By )

75 AcONa(a) O\N

The above reaction is an example of :
(1) Aldol reaction (2) Crossed Aldol reaction

(3) Perkin reaction 4) Claisen reaction

AcONa(d) ~ O\/\(

Gtrﬂa%rarﬁwmm%:
() ueSw srRvRwar () e TR il
() T sifafear (@) wwga afulea

FA61_A] www.upscsﬂdyhaterials.com' - [ Contd...



Fh g g

e s

www.upscstudymaterials.com

96 Benzéne-1, 4-diamine on vigorous oxidation with K7Cr0;7 and

H»S80,4 gives:

4 — N =
(4 o~ HN—@— N=N-NH —<6>—N=N-‘W\~Polymer

N

S-1, 4-SET KaCr0; St H,S0, & @ diw st
WY

FA61. Al 42
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e L N3 S

¢)) Nitrosulphanilic acid
) Nitrosyl sulphuric acid

(3) NaNo, + Oleum

. ﬁw%rﬁga#@mmmwf 'm .

IR U
) Tereewtifm amy
@) T Tl e

) NaNOz + Oleum

e et

(1)  Oaly azo group

(2} Azo 8roup and benzepe ring

@ ol Wi g
G) @W@mew
' SR Ty

FA61_A] _
g _ 43
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www.upscstudymaterials.com



www.upscstudymaterials.com

99 Balzschiemann reaction of benzene diazonium salt is -

(1) An SN! reaction (2) An E; reaction
(3} An E, reaction (4) An SN2 reaction
AT SRS W A Ao st §

(1) wH SN! sifufipar @) @Elaﬁ%_
(3) TE E, il @) uw SN2 afufmn

100 Nitrobenzene when reduced with Zn + NaOH gives :
(1)  Aniline (2) Hydrazobenzene
(3) Azoxybenzene (4) Nitrosobenzene

TR H Zn+ NeOH & Wt srvarr 3 0% 2 §
(V) Vite= (2)  sEsuSESH
(3) aTdEEN (4) -EDENEE

101 Polytetrafluro ethylene is kiown as -

(1) Nylon | (@ Perton
(3) Teflon (4) Resol
UIAEICART SR e Wi ©
OFE @ W
(3) e @ Few
FASL:A | | 44 [ Contd...
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102 Paracetamol 1s :

(1} Antipyretic

(3) Antibacterial

Yofeme ¥ -
(1) =
3) afrEfErad

103 Ciprofloxacin is :
(1) Ani T. B. drug
(3) Antibiotic dug
e ¥
1) Adod T

(3) wiostfaet ==

FAGI A

www.upscstudymaterials.com

@

“)

(2)

Q)

@

45

“4)

(2)

(4)

Anticancer

Antimalarial

LRI

R

Anticancer dmé s

Biotic drug

FHECUH Ty

Ei’rchtfa“v:n
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104 Which of the following is not correctly matched 7

(1) Neoprene - +CH, -»(13 =CH-CH,
Cl ' 1

(@) PVC - CH,~CH
Q1

- ) ~C-0
(3) Nylon 6, 6 - NH'-(CH2)6—NH*C'“(-CH% 4~ C-

CHz
i

(4) PMMA - CHQF(E -
coocH; |
Reeffad § & @ adl gifva T ¥ ?
)

(i) SN W{CHZ-(%=CH~CH2

Cl n

@) v - CszclII
Cl i

| >0
(3) T 6, 6 - {NH—(CHy)g~NH-C-(-CH,), ~C-0

CH3
(4) doATEE - Cﬂz—fr‘ —

COOCH3 0

: : tdi
FA&le_,;_A] 46 {Con _
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. jf' ' 105 Polystyrene is an example of : : U R
_):;i’; 1) Thermoplaﬁtic polymer (2)  Thermosetting polymer
‘of
-?,(_,_gj" 3) _Fibre - (4) Elastomer
(1) e g @ e ]
G @ sana’m

106 It is impossible to attain the lowest temperature known as zero degree
absolute. This is simple statement of -

1) I law, of thermodvnandcs
(2} I law of thermodynamics
(3) I law of thermodynamics

(4) None of the above

@) worhE & fdw fraw @
() Twmiia & gd faw
@ STw ¥ ¥ B

FA61 A] 47 [ Contd...
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107 Combination of two waves of atomic orbitals with the same sign

results in :
(1) [Interference (2) Reinforcement
(3) Repuision (4) None of the above

wﬁ%%mﬂﬁmﬁam&mﬁﬁﬁ%ﬁm%qﬁmﬁm
el ¥ e ' '

(1) sfE | @) WA
@) whwd @ w A Y A

108 Tincture of lodine is :
(1) Aqueous solution of Todine
2)'V Soluticn-of L i’ aqueots Ki
(3) Alcoholic solution of I, + Nal

(4) Aqueous solution of KI
AMET ®1 e ¥

ey L # Sty fem

(2) woE KI A I, @ e

(3 L =1 teiete R + Nal
@) KI % wo fems

FAG1 A | 48 [ Contd...
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109 Which of the following polymers has Phenyl groups attached to the polymer

structure ?
(1) Bunma - N (2} Natural Rubber
(3) Buna - §

(4) Nylon 6, 6
ﬁﬂﬁﬁﬂgﬁﬁ&%ﬁﬁ@ﬁmﬁwmff%ﬁawwﬁmﬁ%?

1) SN @) Wk wr

3G = -8 (4) w6, 6

The drugs which are used for the treatment of stress and anxiety are

known as :

(1)  Prontosil (2) Tranquilizers

(3) Antihistamines (4) Antacids

Wﬁmaﬂrﬁm%wﬁmﬁﬁﬁﬁﬁ%mﬁﬁ;

1) v ) wsiEs
() whikRfm (4) ufery

FA61_A ] 49 [ Contd...
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111 CH,=CH-CH=0 + CH, (COOC,Hy), — 2859,

CH,-CH, ~-CH=0
1
CH(COOC,Hs), -

The above reaction is known as :
(1) Beckmann (2) Favorskii
(3) Michael Addition (4) Fries

CH, =CH—CH= 0 + CH, (COOC,H;), — 2859,

CH, -CH, —-CH=0
.
CH(COOC,Hs),

Sude afiear o e ¥ |
(1) <Foie Al @ | (2) ware aflear ¥
(3) WEEw druee AuEm ¥ (4) we etfkufea A

112 A, value for the compound

0
(1) 351 nom (2) 315 nm
(3) 237 nm (4) 242 nm
o A o
o .
(1) 35lnm () 315 om
(3) 237 nm _ (4) 242 nm
FA61I_A ] 50 | [ Contd...
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T 113 Joule - Thomson coeflicient for ideg] gas is

M wr>o @ wr<o
|
7 |
r G) =0 @) pyp=i
- enaafﬁaaiﬁrqwhaﬁmm%:
i
! [B
N @O >0 @ pyp<o
@) =0 @ HyT=1
114 The correct Statement regarding cycloaddition reaction is
(1) [2+21.is thenmalivCsicwal and [4-+-2] s pilutochenﬁcally allowed
(2) Both [2+2] and [4+2] are thermally allowed
(3) Both [2+2] and [4+2] are photochenncaﬂy allowed
4 [2+2] is photochemlcally allowed and [4+2] is thermally aliowed
wh e (cycloaddition) s ¥ way ¥ T BYT whH T
(1) [2+2] gddy WTE ¥ SR (442 B R AITT ¥}
@ W 242 i (442 ey aHE ¥
() 3 [242] o [44) BB s ¥
@) [242] e AT ¥ o [442) gy AT ¥y
FA61_A ]
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115 Which of the following is correct for a super heavy element ?
(1) Un-nil-unium, f-block element
(2) Un-nil-quadium, d-biock element
(3) Un-nil-bjum, d-block element
(4) Un-nil-ennium, f-block element
Sreias § 4 A @ oo ¥ fre Wl b 7
(1)  Un-nil-univm, f-id q
(2) Un-nil-quadium, d-s8i% T
(3) Un-nil-bium, d-H qTT

(4) Un-nil-ennium, £=8(b o

116 In which of the following reactions, the enzyme diastase acts as 2 catalysf 7
(1) NH,CONH,+H,0 > 2NH;+CO,
@) CrHxOn +H;0 — 2C6H1206
(3) CHsOH+Oy = CH,COOH+H;0
@ (CgHyOs), +nH20 —nCpHy0n

Wﬁammﬁwmm%mﬁm
W & 7

(1) NHzCONHz + H20 —> 2NH3 + C02
(2) CyHy011 +Hz0 — 2C6H1206
() C,HsOH+ 0, - CH;COOH+H,0

@) (C6H1005)n +nH,0—n C12H2201 1

FA61 A] 52 "~ [Contd...
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B i e e R

H
efficiency of aboyt 2 and Bry possess the quantum
1) 1.0 x 105 @ 10
3) 1 x 105 @ o
01

118 The geometry of XeF, will pe -

(1) Tet
etrahedral (2)  Pentagonal

() Trigonal bipyramidal (4)  Octahedral

XeF, 3 wqrfirdy i ST

M) agHaay @ g
) Bravdy iR R
FA61_A]
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The above reaction i the example of -

(M 5, 5] sigmatropic rearrangement
@ 11, 5] sigmatropic rearrangement
(3) Claisen Tearrangement

4 Cope rearrangement

é/ﬁi y

SR s fera s g ?
15, 57 Rrmgife, Rereadz
W )13 sy Rz
() FHT e

@) @ o

120 Xohlrausch's law is related with
¢)] Independent migration of bulky groups
2) Independent migration of moleculeg
3) Independent migration of jopg
@ Independent migration of atoms

ﬂﬁ'mwwﬁuqﬁaﬁm%:
() a%ws‘r‘%ﬁaaw%
@ W@ﬁ%ﬁaam#
3) W%WW!}
(4) ‘Tmﬂeﬁ%ﬁaa.nqq.ﬁ
FA61_A] sy
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CRRAEMER 3y

121 The process in which activities are des:gned and performed to produce

change in student behaviour is called -
(1) Instruction (2) Teaching
(3) Training | o (4)  Indoctrization

asnﬁmﬁrmﬁﬁwaﬁa%m@ﬁmmﬁmﬁf%mmfmﬁaﬂq
% R fomy W %, weardr &

(1) e ) firgor
- () viimor @) wfes
122 Wh:ch factor does not match with the Thomdike's leaming theory ?
¢y Readmess (2) Exercise
(3)  Quality (4) Effect
B ¥ ¥ Sy e RGBT TS Ry 2
ONE Sl @ eam
G) T @) e
123 Which is not a part of "process" 6f computer ?
(1)  Central Processing Unit (CPU)
(2)  Arithmetic and Logical Unit (ALU)
| 3) Input
| (4)  Control Unit (CU)
: Wwwmﬁ“m”mmaﬁ%?
E () %= e = (cpu)
Q) sdifw o witveg R (ALU)
| () 9= (Input)
- @ e R (cu)
FAGI_A | 55 - [ Contd...
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124 When a teacher teaches students based on their learning needs, provig

125

126

solutions for the learning problems and aiso leads them towards learning
sources, then the level of teaching will be at :

(1) Memory level (2) Reflective thinking {evel.

(3) Creative level (4)  Understanding level

m#ﬁrﬁﬁvﬁﬁﬁme{mﬂmms%ﬁmﬁﬂawww
%ammﬁa&wmeﬁmwammgqer&mﬁﬁaﬁemﬁ
\‘rlm%?ﬁfﬁmwaﬂméfn:

(1) wl-wr ) Fmstt faew =y

B) . TEEE WY | @) Y Wy

Specific capabilities to do a task well are called as :
(1) Interest (2) Aptitude
(3)  Attitnde (4% (Psndeption

-~

ﬁ?@r'maﬁmﬁﬁﬁrﬁmmﬁaﬁaﬂ%%:

(1) oRmeRy @) et

() sy 4) vgefe

Which theory is also known as field theory ?

(1) Gestaltism (2) Xohlar's theory

(3) Thorndike's theory (4) Skinner's theory
ﬁﬂrﬁ!@rﬁraﬁ%ﬁqfﬁ@a%ﬂm@r%ﬁww% ?

(1) TR (2) @t @ Reara
() avREw @ R 4) Eﬁvﬁﬁ@m

FA61 A] 56 [ Contd...
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127 According to 1. K. Devis the main stages of teaching are -

128

129

1) Planning, Organizing, Leading, Controlling

(2) Léading, Directing, Guiding, Evaluating

3) Organizing, Controlling, Guiding, Planning

4) Leading, Organizing, Directing Evaluating

3T, %.%l%m%almﬁmwa%ng@mm&'%:
(1) T, amer ST, frisp

@) orRm, wpkygty, Frem, ste

() =, e, Frdem, Prarorr

() omaR, apey e, wgie

"Trial and error” theory was propounded by :

1) Pavioy @  Thorndike
3)  Skinner 4) Kohlar

AT w7 R v i

(1) W @ v
@) @ @ W

(1) Give them ideal books tg read
(2) Narrate biography of idea people
() Be ideal mode for them

4 Be fiiendly with them

mw%mﬁm%mmwm%:
D omst gess g2 5y ¥

(2) enasfmﬁaa‘faﬁ?rﬁﬁ%aﬁ#aaﬁ"

(3) T omedt vgw @y

() feEg wmer oy

FAG61 A] 57 [ Contd...
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Which of the following is not a constructivist view of leamning in ty
class room?

(1) Students work in group

(2) Teachers have a dialogue with students

(3) Learning based on text books and work books

(4) Learning is interactive _ |
Prefifag & ¥ S9-w war-oy ofrm ¥ FiRES wa € ¥ 7
(1) Frendl @ % 4 &W ¥

) Taw foERi % HaE @

(¢) TATES UF R YK SHa s

(4) araipaTyet —

Which theory does nof match with theories of adolescent development ?

(1) Psycho-analytical theory (2) Sullivan's interpersonal theory
() UEnbson's theory @ . BA Itheory

i ¥ @ @ e feyikraen & R § dafm 8 ¥ 2
(1) wefasdw R @) oW w eraddiEs e
3) ufeet @ R (4) ¥ = e

Which situation is most important for learning ?
(1} Classroom climate (2) - Clear educational goal
(3) Communication of teacher  (4) . Use of audio-visual aids

st % frg el e Rafr @ W E 2

(1) HA-HA AEIT Q) we {fw EE
C(3) SEH W OEWER @ T3 qrEll @ S
FAG61_A] _ 58 _ [ Contd...
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IRTA U TR

(1) Sublimation

V) Repression
i :
L? (3) Identification | (4)  Projection
S ¢ - |
-' L 9 T fEnef wg &)
H

wtsammzh@m@hﬁmaffaﬁém%m
Waa-mq,a’ruammm%t

() =T
(3) ARETH oy 4) wdge

134 "Mental hygiene is a science tha deals with human relationship".
} - Who said this 9

|

(1)  Frand (2) . Skinper

(3) Crow and Crow (4) Thorndike

“Wmﬂwfﬁamwﬁm%a}ﬁswﬁaﬁum%m%ﬂ

lws%a%m%?
(1) wms 2 wrr
Q) Haw ' (@) avsEs

135 Some people adjust easily with new people becaunse they have high :
OF

R PR B L TaorEns S o et b e,

Intelligence Quotient (1 Q) @ Academic Quotient (A. Q)
(3) Emotional Quotient (E. Q) @ Spiritual Quotient S. Q)
@mwaﬁrﬁﬁmﬁ@mﬁﬁam%mﬁm%m:

M) 3z wka @ q) @ s A Q)

O s ot i Q) e
FAG61_A | |

o
&3
N
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- 136 The propounder of 'Inductive thinking teaching model' is :

(1) David Ausubel (2) Hilda Taba
(3) Robert Glaser (4) Jerome Bruner
e e et % iee ®
() W argdw @ fowr am
() V& ™E (4) S| R
137 Which is n'cﬁt in(.:luded in the software technology ? .
(1) Flash cards I(2) - Opaque projector
(3) Posters (4) Cartoons .
Frer & & Sl g iR e te ¥ am ad b g
(1) w7 2) oiw Vit
@) WX @) WA
138 "An eight year old child crawl like his younger infant brother" is an
example of :
(I) Regression (2) Rationalization
(3) Repression (4) Compensation
S A i o L R S e e Y& qoren B0 uE
EEUEC B |
() sl @  ghmm
@) T @) =l
139 According to Thorndike's Law of learning which one is not included in
secondary laws ? _
(1) Law of Multiple response - (2) ‘Faw of Effect
(3) Law of Mental set ' (4) “Law of Partial activity,
aﬁaw%@@%%ﬁuq%agaﬂ,ﬁmﬁﬁ#ﬁwﬁ%ﬁwaﬂqﬁﬁ
T Y e SN A
(1) wgorgfear Frm (2) a1 Prm
(G) Tk Rafy «r Py (@) iy B & Prag
FA61.A] - 60 [ Contd...
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(1) Facial expressions (2) Body language
(3) Code language (4 Al of the above
m—mﬁmmﬁaﬂﬁam%ﬂﬂ%%:

M) 9@ & wE-y @) ardfer g

@) widR oy | @ sugw wh

Which group is related to hardware ?

(1) ALy, CPU, Monitor, Key Board

(2)  MS-Word, Key Board, ALU, CPU

3) MS-PowerPoint, ALU, Mouse, Printer _

) CPU, MS-Excel, Photoshop, MS-Word

BT ¥ ¥ sy TE AR F weie ¥ o

) wuw g, W q g, Ak, Gl =)

@ TWE, 3 W, gy o @ g

G3) wmﬁwtﬁs-‘&qwm ey, e
@ W47 oqao TR, By s k&

A computer through which one gets the facility of e-maj] is called as -
(1) Multimedia (2) Internet

(3) Intranet 4)  Service provider
ﬁm:m%m%—ﬁwaﬁﬁﬁmméﬁ&v&m%:
() iR @ w=ae

@) w=re S @) R e

The best teaching aid fiom learning point of view is :
(1) That given in textbook () Available in the market
(3) Student made (4 Teacher made

FA6I_A] 61 [ Contd..,
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144 Tn formula L=f(E¢ fo),lfL ‘stands for learhing, what do E; and
P Indlcate"f R i |
] Ermronmental factor and Parentai factor |
(2) Emotional factor _and Persona] factor _
(3) Environmental i_‘actér and Personal factor
(4) Emotional factﬁf and Parental factor
o g L=f(EgxP) A L aﬁwuﬁg&m ¥, @l By P et
P v ¥ 7 |
(1) awEeEg sRE 9 RBiuiccaed m
@) ufem = § afET B )
(G) TEECIY BRE ¥ ATE HRE
@) whe wRE T AfHEEE wRE

145 Self perception and people's perception develop| :

(1) Interest (2). " Intelligence

(3) Selt” concept : {4) " Seif gé;isuipiine

= yadE T W % vadm wo el dd v o0
. L -

3) @ YEd . | (M) = AT

146 Which model is ‘helpful to students for concept construction and
reconstruction ? '

(1) Enguiry Training ‘Model (2) - Infotmation Processing Model
 {(3) * Co-operative Learning (4)  Advance Organizer Model
aﬁﬂmwmaﬁwﬁﬂhaﬂm it ¥ wemw ¥ 7
(1) wEas e aiee o @mwuﬁnﬁ
(¢) wewl s (@) ot st TR
FA61 A | 62 [ Contd..,
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w3 TERIR
A =
HSEMETIET

(147 What is knowledge ?
(1) Knowledge is the result of personal interpretation of experience
2) Knowledge is the personal experience of a person
3) Knowledge outbursts the ideas and views of a person about the world
@) Knowledge 1s an experience which identifies our personality
e o w7
(1) aﬁaﬁﬂa%a&wmﬁéaﬁmuﬁmém%l
2) ﬁﬁ@ﬂﬁﬁwaﬁ%ﬁlﬁmﬁﬂﬂ@m%l
3) aﬁaﬁﬁ%ﬁﬁmﬁaq&aﬁfﬁwﬁq@%ﬂaﬂm%l
(@) W T FgH ¥ < o e atEd Bl T ¥
148 What are the classroom uses of computer. ?
(1) Computer assisted instructions
(2) Calculating and analysing data
(3) Computer simulated experiment
(4) Al the above
FEgEL 6 BEFE SuEm, @ ¥ 2
(1) wRE ST SRR |
@) W fare Od WO | | i
() TR R EaU LI S
4) o @l %
&
149 Propounder of concept attainment model is :
(1) Piaget (2) - Bruner
(3) Ausubel (4) John Dewey
ey SUARe GREE & waaw &
1 fr @ TN
(@) ST ONGERS
150 Which factor is not considered as effective class room teaching ?
(1) Lack of technology '
2) Feedback N
(3) Teaching strategies and skills
#) Communication and principle of clarity
ﬁwwﬁmﬁxwﬁﬁam@ﬁaﬁﬁm% ?
ORIl @) T
3) fvgor BEAR T 3@ (4)mwawwm@a
FAG1 Al 63 . ~ [Contd...
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SCHOOL LECTURER COMP EXAM 2013
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PAPER-II(Chemistry-61)
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